22 Pgle

(OMT) (g LS PY - g S 5 (5l 309~ 55035 b a5l b - p3 Jusd) ($3ome Sy L) = ) 2 dig 38 =)
sl Y30 039 SRS abiis 53 35 - (Vi i3S ¥
(OWeT) (w3 OUS A donio - s pusie (g 3iptinh - (5355 13 OT i 5 350 - Ul Juod) (530220 S L))
DlUsSd g0 Cudo)> 9lS s0d 9 Hgkes - ol 4y 55 -V
(OWT) (w5 DS A dmivo - (o g0 9 (g2b S lom = (S35 13 LOT 25 9 Slgo - Uyl Jud) (3200 S L))
23515 50 I8 J9az jl Ogie S5 3 3515 Sl 09 Sl 515 395 3T s s 4S (g polic - ) 4y 35 -F
(Bawgio) (g3 QUS Y domino - s i (s 3ish - (5355 53 BOT G2 9 3lge - Jgl Jud) (300 S Ls))
(Bausgo) (g3 S AD doniad - JLitd 9 9 - 0T JBT 9 )Lid - o Jasd) (53050 S L)) = )0 43 S -0
dbge o dlo 9 (ae) S90 p iz DU 9 Sl Lol 5)lg0d punz Sy p - ) 4 S -F
(b gi0) (s> QLS DA 9 OV dio - 09 - 9 0 - p2riy Juod) (S0 S L))

.))|M;hqwucbuwhm4gw,m),b4g SBhusl (g9 50 - ¥y 4 35 -V

(b gio) (sw)d QLS FV dxiuo - SIShsl - 9 pu - ey Judd) (($307m0 S LS))

.Iog')b EHCgwe 9a OJ9 s )3 9 45@3) Sign) )'t'.‘“‘s'G)O:’)S3 OS5 - 4»)? -A

0, = 0=0
Cco, = C
r [/ \\
O O
N, = N=N
(Olgi3) (w5 QS P dmis - 05 jinS (9 i8Il Sbl - j50350 b esl Jld) - p9> Juad) (300 S Lo))
-«\‘»4&")?—‘\
S o
P)" =‘°kg )' "9: = =F000P

Eh.aach,u:\ucm":o/»lcm"

(lgs) (s> DS AD dorivo - JLad 9 90 - OT JUT 9 JLtd - e Jusd) (53070 Sy Lo )
F, = F .38 0 3)l9 395 1) g 40 Sy (5905 Gt ol 2 pans 93 p 2 &5 oo T Sl oy 4y 38 - ) o
P, <Py sl 155,50 jla puled mha < (ol

(l93) (s> LS AD 9 AF domius - JLad 9 9 55— 0T JUT 9 JLad - pxiad Juad) (00 Sy L))



P_.Mag)tt_gJJSI,,JASLngg)ﬁJ.AJ,.&)J|9'owo_'_i_»_QG&S#U)QASQ_Aﬁl,SUodLb,):J-«\"»Q}f—\\
DS o S 1) 50385 9 3igd 00 9
(lgd3) (s> LS B 9 OA dxiso - JuiSly 9 JiiS (5985 - 9 0 - iy, Juad) (5300 S L))

233135 gha (§3908 ($9085 2> G o8U S8 Sy s - 1) 4y S -1 Y

(lg3) (s> QLS &0 dns - b (53908 (59 25 - 9 025 - p2niy Jud) (S 2020 S L))



